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NO. 3+16. 50 0. 000 2.2
NO. 4 3. 500 2.2 2. 20 7.7
NO. 4+2. 00 2. 000 2.2 2. 20 4.4
NO. 4+2. 00 0. 000 1.4
No. 4+14. 772 12. 772 1.4 1. 40 17.9
No. 4+14. 772 0. 000 2.1
NO. 5 5. 228 2.1 2. 10 11.0
IP. 3 13. 399 2.2 2.15 28.8
NO. 6 6. 601 2.0 2. 10 13.9
1P. 4 11. 832 1.6 1. 80 21.3
NO. 7 8. 168 1.3 1. 45 11.8
NO. 8 20. 000 1.2 1. 25 25.0
EP 0. 566 1.1 1. 15 0.7
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B R Bt (m) I8 A (m2) P LW AR (m2) & Fit (m3) i
2BP+0. 90 0. 000 1.1
2BP+10. 60 9. 700 1.3 1. 20 11.6
2N0. 1 9. 400 1.2 1. 25 11.8
2EP 16. 400 0.8 1. 00 16. 4
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T B (m) T THI i (m2) P EIRE (m2) & F (m3) o=

NO. 3+16. 50 0. 000 5.2
NO. 4 3. 500 5.2 5. 20 18. 2
NO. 4+2. 00 2.000 5.2 5. 20 10. 4
NO. 4+2. 00 0. 000 3.0
No. 4+14. 772 12. 772 3.0 3. 00 38.3
No. 4+14. 772 0. 000 0.5
NO. 5 5. 228 0.5 0. 50 2.6
IP. 3 13. 399 0.6 0. bb 7.4
NO. 6 6. 601 0.5 0. bb 3.6
IP. 4 11.832 0.4 0. 45 5.3
NO. 7 8. 168 0.6 0. 50 4.1
NO. 8 20. 000 0.6 0. 60 12.0
EP 0. 566 0.6 0. 60 0.3
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NO. 3+16. 50 0. 000 2.2
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NO. 4+2. 00 0. 000 1.1
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g 35. 500 1.8




o Bl EmEEIE

Ja vy
X Sl
AR A = X/ P A
LR
K7 U 22— A
1500 X 1200 L = 13.4 m X 1.82 ni/m= 24.39
b o— L%
® 600 L = 98.6 m X 1.35 m/m= 133.11
iy N = 1.0 ¥ X 576 ni/i = 5.76
PEfgi A N = 1.0 F X 225 ni/3t= 225
PEfgi B N = 1.0 3 X 225 ni/t = 2.25
PrfgitC N = 1.0 X 4.68 ni/}: = 4.68

3= 172. 44 172.4 m2




T

& o HEKZ U 22— 241500 X 1200 B AL :m
Ho A =

iy i

NO. 4+0. 50~NO. 4+13. 87 13. 40
N E 13. 4
e 13. 4




B B E A E
e Bl HEKZ U 2— 4 10. 000m>4 v
#H K+ 1500 X 1200

% |
|?Po
|00 I# 10
i
Sua ','—!r-ﬁ (T-68)
/
i
|
i
: |
!
|
i
i
2 777
8 [ ERFFE-0 ]
i
||0'3 IEj.'ZO Illcl.
FEEL HLHG 5 S W | om e

HEAKZ U = —2 [10.00/2. 00=5. 000

15001200

ZiN 5. 00

FEHEREA 1. 82X 10. 00=18. 20

RB-40, t =15cm

m2 18. 20




% b a— A5 ¢ 600

B

T

B A7 :m

D & i
AR
NO. 4+15. 67~NO. 5+12. 90 17.23
NO. 5+13. 90~N0. 6+11. 33 17. 43
NO. 6+12. 33~EP 28.24
fe R
2BP+0. 90~2EP+0. 20 35. 70

/8 = 98. 6
& i 98. 6




B B E A E
e Bl b a— N 10. 000m24 v
#H ¥ 1FEE ¢ 600

% |
! E 1 — A% ¢ 600 (1)
X /
2 | Cona
- o . SN 2
LSRR - )
o : : . iy ey
< SUIRRE- < - 2 .
I
|
1350
B Bk A X W ¥ B
b oo — A 10. 00/2. 43=4. 1
LA
é 600
ZiN 4.1
FHERD (1.35X0.55-0. 70X0. 70 X 3. 14/4 X 1/2) X 10. 00=5. 50

m3 5.50




Moopl s g7 Y 2 — A

Juay s/ . arrY— ~E1500H
ES 7
TR Bk £ N/ B =

HEKZ7 Y 22— A
2/))-b2  T-6/H| BP+3. 00~BP+8. 00 5 &
1500

NO. 4+0. 50~NO0. 4+13. 87 13 ¥

= 18.0 #
18.0 H¢




— AR E

il Bl K

A=A

X g7
FHRI]/ = EV =
Bt NO. 14. 97 .o
Bt A NO. 13.55 .o X
Poctt B NO. 11.98 .o
it C 2EP 0. 80 .o X




M R B

N7 EK

#H ¥+ 11800 X 1800 H=1550

1. 000564 1

s |
T & .
@@ $=1:20
= ‘ ‘m e
| / |
| : L
s * ! } L‘ _7 Ea— Ak esn
! \
Eﬁ =
MEL S 2 N HL AL B =
2.20X2.20X 1. 75-1. 80X 1. 80X 1. 55—1. 70 X 1. 45 X 0. 20~
Bk 27 U — 1~ [0.70X0.70X3.14/4X0. 20 X2=2. 80
F21-8-25BB
m3 2. 80
Tl e 2.20X1.75X4+1. 80X 1.55X4-1. 70X 1. 45X 2—
0.70X0.70X3. 14/4 X 4=20. 09
BRI EY)
m2 20. 09
7N FE 7 X 2 PR 151. 910kg
D13
t 0. 152
a7 U—k  [0.05X2.40X2.40=0. 29
F18-8-25BB
m3 0. 29
o AR 0.05X2.40X4=0. 48
m2 0. 48
PNy 2.40X 2. 40=5. 76
RB-40. t =20 c m
m2 5.76
A PEPN1800 X 1800/ 247l I5'e 2.00
t=4. bmm FEEIX 2 R
SEHEY
30SW A 3. 00




AW A Y /A == Vi

HN M EFAEE
#m U3 7 1. 00034 v
#H ¥ - [J1000X 1000 H=1250

S |
F |
S=1:20
00
! TRt
L eine |
Sl !
(2
FEL k& = EN T T T &

7L F A MEAKME[1000 X 1000 X 1400
W=2319kg/%&
M 1. 00

FEH =7 U — R
F18-8-25(20)BB 1. 00X 1. 00X0. 15=0. 15
W/C=Ha &M L
t=17.3cm m3 0.15

FLERe 1.50 X 1. 50=2. 25
RB-40. t =20 ¢ m
m2 2.25

AR 25 25
t =4. 5mm X 2 FR
1000 X 1000 FH
758 1. 00

TR
30SW 1 3.00




AW A Y /A = Y
HN st AR E
#m Bl : e Bl
#H ¥ - [J1000X 1000 H=1300

1. 000564 1

s |
T E M
S&=1:20
e H— 01—
o 170
== i f a5 L
e S
00 =
MEL S L BN BN B =
Z L A MEADE[1000 X 1000 X 1450
W=2402kg/ %5

M 1. 00

a7 U— |k

F18-8-25(20)BB  |1.00X 1. 00X 0. 15=0. 15

W/C=taE L

t =17.3cm m3 0.15

FLERe 1.50 X 1. 50=2. 25

RB-40. t =20 ¢ m
m2 2.25

t =4. 5mm X 2 FR

1000 X 1000 FH
# 1. 00

W)

30SW 1 3. 00




L A 75 7 7 Ot

WA B E

#H ¥+ [12000X 1200 H=2300

1. 000564 1

LS
T &
P §=1:20
} =
1 i
|
MEL S 2 = HL AL B =
2. 40X 1. 60X2.50-2. 00X 1. 20X 2. 30-0. 70 X 0. 70X 3. 14/4
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m3 0.23
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27.0+27. 0+26. 4+26. 4=106. 8
L = 106.8 m
106.8 m X 0.200 m/m = 21.36 m
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3F = 28.54 m
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eI AR AL B
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U-300x300 Ml L = 0.6 m/A W= 81 Ke/A&
10.000 -+ 0.600 = 16.60 A
16.600 X 0.081 = 1.34
1340 = 2.350 /i = 0.57 nd
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££ Kk HE1500 X 1500 H=850 14 H¥y | H L B & F
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1.90 X1.90X1.05-1.50X1.50X0.85=1.88
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